EARAROBEEIERT — 2 N— IBISH —F

201281282680 (k) om@#I2H

AR REEEXY

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A~&£] 1 7% :1,000,000  ~ 23 :300,000 ™ 373 :170,000 §

4 7% 130,000 B . 5 3& : 100,000 M

B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
. = = . 04— _ JAg— AN
: 4| TORUTR—L 3 sﬁ)ﬁé 1.(3_2).9 8-9-4-3 | 41.5 2 (5_231) /%J\;';IE;}( )
LA TAT v — Bix—TFNTF7— J=HrTrp—L
: B 3 | BAEE 1:33.3 1-1-1-1 | 42.5| — 10 | 416 |FERZ (H)
28|11 H-A%— 54.0 @) Ciy) | EERS
R:22—-)>JA-X B:I>VIT—R b REE f5—
— s MEX . 00 - REE= ()
3l5l5 | 17F7¥2a— i 3 e (11313/263 2-2-2-2 | 42.6 7 g@) nER-
R:Tdr—T4FAF—-H> BT F> BiE %
o g 5 WIFRS : F-E- = FOZ (GEF)
al7lg| g1 519/ =2 i 3 s 1.(313).8 3-3-3-4 | 42.8 4 (4:;50) sl
LG22 HE—Y B:F—Ibbhy /X i
. - it . 55 4| - IR (B
s | HUIHLE—EL 4 3 wh 1(13/32>9 6-5-5-5 | 42.4 3 <4+418) et
RYISTLIFL N B Iy Mh]=:bve)
N N A+ R K :34. -11-11- . — FILES (GEFn)
6 6| UN—21H— LI} R 1 (314)1 9-11-11-10 | 40.7 8 (4_259) Pty
LNTHEAZXIY— B:FrT7—-K7A07 BB
4t 3 | BOLS 1:34.6 10-8-8-8 |42.9| — 6 458 | /MIB—BR (GAF0)
7 7 77407 56.0 (2 1/2) ) |BUBER
LY LTAN=b B TI—L4 WHE IE
S o BAER : -10-9- = NAARE (GEAD)
3 3| h—t>F— K- 4 3 54.01_ 1.(314).8 11-10-9-7 | 42.6 1 (gi) é‘“”&ﬁ
L:d—=IWK7Ya— B:JL—-ZX7>RK7O0-1— BT r—L4
2 . s 3 | EEfE— 1:34.9 4-5-6-6 |43.4| — 9 420 | *RARERE (AFN)
9l7l9|73IFv> 54.0 (7€) (-5 |FE—E
R:TS5v78%Y—F BAA— b1 UTL =5 IBE—
“ . i 3 | SRt 1:35.9 7-7-10-11 | 44.0 | — 11 443 | TREEETT (770
10/8|10| 7TV —F>F 5.0 ® (o |KEEET
LZL2A Y E—T B:TUE- NIERNTT— L
2 4t 3 | hOEEFOME 1:36.2 5-4-7-9 | 44.7| — 5 445 | EO—FR GAFN)
11111 AM T3 '7#//\/ 54.0 (11/2) (-3) Rl SR 7 ==
LA YavR—-5— B:VYRId-IK i —
@ 1 — S —EBlIEf
13—3— 11,5,8,9,1,2,10,4,6,7,3
2=1—F— 11,5,8,1,(2,9),10,7,4,3,6
Jol=5r= 11,5,8,4,2,9,1,7,3,10,6
40—+ — 11,5,4,8,2,9,3,7,1,6,10
[ N3
B OB 4 350H 714K 4-11 2,340 % E 4-8 5,720H 3EHE 4-5-11 29,160
8 B 4 170 4-5 1,160M B 4-8 8,310M K31 4-11-5 117,980M
1 630M 5-11 7,090/ B E 4-11 6,580
9 310H B 4-11 12,120M

ABICOVWTRDTEEERROODE. TR LIV,




